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2.8.3
79a ([y mwnimwys »72 1) > 79b (Aren 195y 12212 957 98)

L »mwn: more RN MMYW (note: “ink”, “9M3” and 7 MWwn are analyzed on next page)
a. Leather: enough to make a y'np (amulet)
i ~27 asked 1" about 1Y MW of carrying leather meant to be tanned— answer was the same (y'np mwy?5)
1. Proof: 7:» maw — MW of various marYn related to wool is same as for weaving
a.  In other words: since the wool will be woven, that determines the M1yw
b.  Similarly: since the parchment will be tanned, 1w is the same (for carrying)
i Question: if not going to be tanned, what is the Myw?
ii. Answer: the same
1. Challenge: is there no difference between 72191 and 12190 WRWY?
2. Example: My for carrying soaked dyes is different than unsoaked dyes
a. Answer: no one troubles himself to dye just for that small 13w alone
3. Example: seeds — before planting, 5; afterwards — 1
a. Answer: no one troubles himself to plant just one seed
4. Example: mud - noy»a1 of filthy water, but after it's mixed, smaller 11yw
a. Answer: no one troubles himself to mix water for smaller Nyw
ii. challenge: there are 3 kinds of hides
1. 7¥m not worked on at all, not with salt, not with flour nor with gallnuts
a.  &v17 7y enough to enwrap a small weight (»ar: ¥4 of the nya1-weight used in xn>71ama)
i In other words: My*» of a non-T2yn hide is bigger (we don’t equate T21YN:: 729N 1R)
ii. Answer: this is a still-moist hide, unfit for tanning as of yet
2. 79m only salted — nr¥ NYW is as per our Mwn (to write a Ynp)
3. Nwn977(S1pbepo): salted and floured (only) — Nk 1YW — enough to write a v}
iii. Challenge: 2:13 093 — among fabrics mentioned, 1 71 nkMY NPV is 5x5 DNav (much bigger than ours)
1. And: an associated Xn>11 determines same 7w for NR¥IN
a. Answer: that is referencing 892101p, no longer used for writing >used for covering n’%> etc.
b.  Parchment: enough to write the smallest nw1a of PY»an - YRIW? YNV
i. Challenge: Xn»a rules that the My>w for parchment and ©Y0LYENT (parchment with top layer removed) is
enough to write a N1 (=2 MWw19)
1. Proposed answer: nn refers to “nmin” which is in p%an —i.e. Y87’ ynw
2. Challenge: "nmm” isn’t used to refer to part of P> an
a. Answer: itis -in Xn»13, in re: P NRML for touching Py an- “only ®nv when he touches its nrim”
b.  Challenge: our mywn rules PYanaw mop W1 >RN»11 must be referring to P>an
i Rather: 010010777 1YW — enough to write N1; 95p NMYW — enough to write PYanaw NV NV
ii. Tangent: 27's ruling — "95p3 RN 70 DIVDIDNT”
1. Assumed meaning: just as 95p is used for P>an, ©WLILT may be used for PYan
a.  Challenge: from our mwn — only q%p has 1w related to P%7an, not LIvLILINT
i Defense: that is for the ideal mxn (y5an should ideally be written on 99p)
b.  Challenge: p%an on q%p (side facing flesh) and nni on ©1wLILIT (side facing hair) is n"n%n
i Defense: that is also mxn? — but dispensible
ii. Challenge: xn»a rules that if this is altered it is 5102 (i.e. it is indispensable)
1. Answer: that is in reference to nrim
2. Challenge: ®nv1a rules that if he alters either it is 9109
a. Answer: both are in re: ntyn — if he wrote on q%p on hairy side, or on VYYLILNT at all
b.  Or: this may be DRin n,Ynn (RNR ', in response to %108 N1 Ara NPY, is PwIn)
iii. Answer (979): 21 is following nwin »a1 Rin — “if he wrote it on 45p, 913 or VIVDILNT — TWI”
1. It: must refer to PYan (as we don’t write n1in on q%p)
2. But: we don’t write PYan on 9
a.  Rather: it refers to n"o (as implied by xn»1)
c.  Answer: 27's statement is inverted —q5p is like ©1VVILNT —just as we write NN on VIVDILNT
i We may: write n1vtn on 9%p
c.  Ink: enough to write 2 letters
d. Stibium (blue powder used for painting eyes): enough to paint one eye
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